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A coaching institute wants to execute tiling work for one of its teaching halls 60 m long and
40 m wide with a square tile of 0.4 m side. If each tile costs Rs. 5, the total cost of tiles
would be

Teh DI TR U T R0 H&f H 60 AT dd 3R 40 Hiez A @ # 0.4

Hex IBR TR T BT HIH BT dledl 8| I IS TRd HI arld 3. 5,
CI3Cd Bl Hof AN &Rl

(A) Rs. 65000 -]
(B) Rs. 70000
(C) Rs. 75000
(D) Rs. 85000




The area of a square with perimeter 48 cm is
48 T g aTel U ol BT 8% d 8
(A) 104 sq.cm

(B) 144 sq.cm

(C) 156 sq.cm

(D) 170 sq.cm




The length of a room is 5.5 m and width is 3.75 m. Find the cost of paving the floor by slabs at the
rate of Rs.800 per sq. metre.

Uh HHR bl Tielg 5.5 HlcY 3R dISTg 3.75 HleR €1 800 0 Ufd off Hiex Bl ax 4 %l

P! TS GRT Uadh] HI1 bl AN JTd
(A) Rs. 15,000
(B) Rs. 16,000
(€) Rs. 16,500
(D) Rs. 17,500




The area of a rectangular field is 2100 sq.metres. If the field is 60 metres long, what is its
perimeter?

UPh %lqdloblaﬁ‘c:r:r T AAHA 2100 I Hiex g1 afe e 60 Hex dar g, df 39! uRfy
T 87

(A) 190 m

(B) 210 m

(C) 240 m
(D) 270 m




A lawn is in the shape of a rectangle of 80 m length and 50 m width. Outside the lawn there is a

footpath of uniform 1 m width bordering the lawn. The area of the footpath is

Uk Al 80 Iﬂ?{ﬁ‘q’fﬁaﬁvmrﬂa%ﬁ@r‘s‘%W&mm PR BT g1 A b e Al
1 AT W T §3HT Th JHM 1 HIcR AIST Heury 8| Hedlyd &l 8%hd g

(A) 164 m?

(B) 264 m?

(C) 284 m?

(D) 4264 m?




The area of a triangle whose sides are of lengths 3 em, 4 em and 5 ecm is
o Y &1 &% d g forgept Yoid 3 THT, 4 AT 3R 5 I 8
(A) 6 cm?

(B) 8 cm?

(€) 10 cm?

(D) 12 ¢cm?




A field in the form of a parallelogram has one side 150 metres and its distance from the opposite
side is 80 metres. The cost of watering the field at the rate of 50 %aise per square metre is

THIR IGYS & 3MDHR & TP HgH HI TP Yol 150 Al § 3R [AmRId Yol I STDT gl
sorﬁaa%@?rﬁm:ﬁéﬁﬁamsoﬁ@r T AR P R Y 3Tl 8

(A) Rs.3500

(B) Rs.4500

| (C) Rs.5500

(D) Rs.6000




The diameter of a circle is 3.5 cm. What is the circumference of the circle?
U 9 &1 A 3.5 TH! &1 I B G o1 87

(A) 11 cm

(B) 22 ¢m

(C) 38.5 cm

(D) 45.2 cm




The diameter of a cycle wheel is 70 cm. A cyclist takes 30 hours to reach a destination at the speed of
22 km/hr. How many revolutions will the wheel make during this journey?

U Hrgfobet & Ufgd ] oI 70 I 8| T Wb =Teteh bt 22 febHieier b1 fa &
for it Tide 9% Uga | 30 U O & | 39 AT & QIR UledT fovd- Ia®x aai?
(A) 1 lakh
(B) 2 lakh
' (€) 3 lakh -]
(D) 4 lakh




In a circle of radius 28 cm, an arc subtends an angle of 72° at the centre. Find the length of the arc
and the area of the sector so formed.

28 T 3541 a1e] T g1 W, TP AU ohg UR 72° BT HI0T ST ¢ | I19 B} dalg 3R 39
JHR g FAaE S &1 &Ahd JTd BT

(A) 490.8 cm?

 (B) 491.8 cm?

' (C) 492.8 ¢cm?

(D) 494.8 cm?




The perimeter of a square and rectangle is the same. If the rectangle is 12 cm by 10 cm, then by

what percentage is the area of the square more than that of the rectangle?

THh ¥ IR 3M1Ad Bl GRATY T4 5| TfS 3mad 12 JHT J0M 10 IH 8, df 3 BT &% d
3Id & &Fhd ¥ fohd- ufa=ia sifdies g2

(R) 1(1/6)
(B)5/6
(€)1

(D) 2/3







@ |f the area of rhombus is 84 cm square and length of th=

diagonal is 7 cm
Then find the length of the other diagonal
I THATIST FT &AHT 84 THY a7 ¢ i< fF=wol it a1 7

T & e gax et i @es 7 94T g

1)24
2)48
3)12
4)36




K_;—_;;- Find the ratio of the area of square to that which is form =
with the help of its diagonal

R F &R T FATATT ATT KT ST ZqF Aot T agraar
qI9ar g

(1) 1:2
(2) 2:3
(3) 1:v2
(4) NOT




SSC GD 2023 (AW ddl hT HTHA)

A e I

" If the diagonal of the square is 4v2 cm then find the X
diagonal of the second square ,if the area of the second

square is two times the first

i< a0 FT FAFHT 442 GHT g AV L T 7 Q01 10 Y,
i< T T HT STHA I8 § T IAT

(A) 8v2
(B) 8
(C) V32
(D) 16




® If Ais an area of a square of side 10 cmand Bis an area %=

of the square with diagonal 14 cm then find A+B

i< A, 10 FHT F T FT HTHA g M B 14 GHT qTT I
AT FT 8w g, ATA+BEE

(A) 198
(B) 200
(C) 100
(D) not




K»Lf" Find the area of the largest sphere that can be form =
inside the square of side 18 cm (in cm square )

a9 T I T STHS S7d he ST o0 18 9T (T
HT /) R0 = (ST gr 9T gl

(A) 91rt
(B) 3241
(C)36m
(D) 288nt




SSC GD 2023 (AW ddT hT HETHA)
”inside the 16 mt and 5 cm long and 15mt broad room,

how many equal squared tiles are required to complete
the room

16 mt 3T 5 cm &« T 15 HT g FHL F ST, FAL &l
9T F % forg e qore a9t Y arget i smaesa6hr 1700

BT & (2)
10700

(3)16050
0

(4)
10800

A e I




SSC GD 2023 (AWl T HETHA) ©
" If the perimeter of a rhombus is 40 cm if the =

length of one diagonal is 12 cm then find the
length of the second diagonal

T U gHIq i afifer 40 9+t § afe wen Aot
Ft AGTS 12 FHT A @A Aot it ST T Y

(1) 12
(2) V136
(3) 16
(4) 44




SSC GD 2023 (TWhaIdl BT HETH) ©
7 If the area of trapezium is 1440 mt square and the distance =

between the parallel sides are 24 mt ,if the ratio of the
parallel sides are 5:3 ,then find the length of the largest

parallel side ?

I TUREH FT ATHA 1440 mt T g S THHGL &0 6
= H LT 24 mt g, Qﬁﬂﬂldid(q'&ﬁaﬁTW5('ﬁ$§ﬁ'
99 I8 GHTIAL 987 ht AdTs 19 hitora? (2) 45

(3) 120
(4) 60




SSC GD 2023 (AWddT hT HETHA)
7 |If the parallelogram have adjacent sides of 36 and 27 cm ,if

the distance between the two smaller sides are 12 cm then
find the distance between the two bigger sides

i< THTAT ATHST F 3T T i {1 36 30T 27 9T &,
ﬁﬁ@ﬁqﬁ%aﬁ?ﬁqﬁm qHT g, AT TS TATF
1= st g ATT (1)6

(2) 8
(3)4
(4)9

A e I




SSC GD 2023 (A eTcT T HETH)
” The ratio of the sides of parallelogram is 5:4 ,and its area is

1000 square unit ,altitude to bigger side is 20 unit ,then find
altitude over smaller side (in unit)

FHTAL ACHST hl TSI FT FATATT 5: 4 8, 3T SHHT AR
1000 3 T 7, It a<h T FATE 20 7975 &, =
TeT (TH(S H) Hl HATS qTd &
(1) 25
(2) 30
(3) 10
(4) not




SSC GD 2023 (TWHEIdl BT HETH) ©
7 If the sides of a parallelogram are 60 and 40 cm if its one =

diagonal is 80 cm then find the area (in square mt )?

IS T GHIGE AU T T8 60 3T 40 T7 § Tt o
T fa=ot 80 THT g AT &% (I a9 H) T HL?

(1) 600vV15
(2) 30015

(3) 40015
(4) not




SSC GD 2023 (AWl T HETHH) ©
” If the smaller diagonal of rhombus is equal to its side ,if <*

the length of each side of rhombus is 6 cm then find
the area of that triangle that can be formed on the
bigger diagonal

i< TS FT ST AT 306 YT F I gial E}?{F’
Wﬁa%mwaﬁmﬁtﬁ v 3% Frsr )
SR AT hITOTT STt o faol I a9 9haT g

(2) 27
V3




SSC GD 2023 (TWHaIdl BT HETH) ©
7 AB Is parallel to CD in the trapezium if AB =2 CD ,and its

diagonal cuts each other at point O , if the area of triangle
AOB is 84 cm square then find the area of triangle COD is =

AB ufera® § CD & gHTia< g Iis AB = 2 CD, 3ii< 97
fasror fig O X T& X &l Fear g, Ifx s AOB =t
S 84 T T g AT ST COD FT &6 AT A D

(2) 441
(3) 72
(4) 26




& |f the perimeter of rhombus is 40 cm if its one diagonal is 16

cm then find the area of rhombus in cm square

i< TS Tife 40 It § Tfe Tt U= fa=et 16

QUT g a1 AHT R0 H TS T AARA T B

(1) 96
(2) 48
(3) 72
(4) 192




SSC GD 2023 (ATl DT HETHA)
’ The length of rectangle which is 25 cm is equal to the length

of a square and the area of the rectangle is 125 cm square
less than the area of the square ,what is the breadth of
rectangle

AT T AT S 25 GHT § T THh I hl AdATs & SO g
sﬁtwméwaﬁ%éwﬁ 125@ﬁ¢ﬁ?{$ﬁ(§) 14

AT HT ASTS FT ] (2) 12

(3) 20
(4) 15

A e I




SSC GD 2023 (AW ddl bT HTHA)

’ In a trapezium AB and DC are parallel sides ,angle ADC =

909 .if AB is 15 cm and CD =40 cm and AC =41 cm ,then
find the area of trapezium ABCD

TF U H AB 3T DC dHd {SITU 8, %1 ADC = 90°,

i< AB 15 ¥t 3T CD = 40 T ik AC =41 9T &, av

ufora® ABCD T &%l JTd X (1) 247.5
(2) 441.5
(3) 495
(4) 260

























